Bihar Public Service Commission, Patna

Advt. No. 32/2024 & 33/2024 (General Studies)

Assistant Engineer, Civil & Mechanical Written (Objective)
Competitive Examinations

Final Answer key (Set -W)

Question No. Ans. Key Question No. Ans. Key
1 c 26 B
2 c 27 B
3 D 28 c
4 Deleted 29 (e}
5 D 30 D
6 B 31 c
7 D 32 c
8 c 33 A
9 B 34 Deleted

10 A 35 B
11 D 36 A
12 Deleted 37 (e}
13 B 38 B
14 c 39 A
15 B 40 ¢
16 A 41 B
17 D 42 D
18 B 43 B
19 D 44 D
20 B 45 D
21 D 46 A
22 A a7 D
23 c 48 ¢
24 A 49 B
25 B 50 ¢




(Set X)
Question No. Ans. Key Question No. Ans. Key
1 C 26 A
2 A 27 A
3 B 28 A
4 B 29 D
5 A 30 A
6 A 31 C
7 C 32 A
8 C 33 A
9 C 34 B
10 A 35 A
11 B 36 Deleted
12 A 37 Cc
13 Deleted 38 Cc
14 C 39 C
15 D 40 D
16 A 41 A
17 B 42 A
18 C 43 C
19 A 44 B
20 C 45 Deleted
21 B 46 D
22 D 47 B
23 C 48 D
24 C 49 D
25 D 50 D




(Set -Y)

Question No. Ans. Key Question No. Ans. Key
1 B 26 A
2 B 27 B
3 A 28 B
4 A 29 A
5 A 30 D
6 A 31 D
7 Deleted 32 D
8 D 33 D
9 C 34 D
10 D 35 Cc
11 D 36 Deleted
12 C 37 D
13 D 38 A
14 Cc 39 B
15 C 40 C
16 B 41 A
17 A 42 A
18 B 43 A
19 A 44 A
20 B 45 B
21 D 46 A
22 A 47 B
23 C 48 D
24 B 49 B
25 Deleted 50 B




(Set-2)

Question No. Ans. Key Question No. Ans. Key
1 B 26 A
2 B 27 B
3 C 28 C
4 D 29 C
5 A 30 Deleted
6 B 31 D
7 C 32 D
8 C 33 C
9 D 34 C
10 A 35 A
11 C 36 D
12 A 37 Cc
13 C 38 C
14 D 39 B
15 D 40 Cc
16 C 41 Deleted
17 C 42 B
18 Deleted 43 B
19 D 44 D
20 D 45 A
21 D 46 B
22 C 47 D
23 A 48 D
24 A 49 A
25 D 50 Cc




Question sequence as per Set-W

Set-W Set-X Set-Y Set-Z
4 45 36 18
9 24 41 15
12 36 7 41
13 38 6 19
33 34 12 27
34 13 25 30
49 8 19 36
Reasons as per Set-W
Q.No. 04~ Deleted.
Reason :- None of the Athelete won two gold medals at paris 2024 Paralympic
Games.
Q- No. 09 Setter's answer is option 'D'. But the correct answer is option 'B'.
Reason :- As general purpose Computer has wide range of size and power.
Q.No. 12- Deleted.
Reason - As Options ‘B’ “C’ ‘D’ follow rule of declaring Identifiers.
Q.No. 13- Setter's answer is option 'D'. But the correct answer is option 'B'.
According to Lewis concept an Acid is electron Pair acceptor where
Reason :- - .
as a base is electron pair donor.
Setter's answer is option 'C'. But the correct answer is option 'A'.
Q.No. 33-
Economic cost is the value given up when you change one economic
Reason :- . . L .
Activity over the next best economic Activity i.e. opportunity cost.
Q.No. 34- Deleted.
As data recovery is also an example of utility along with anti-virus.
Reason :-
Q.No. 49- Setter's answer is option 'A’. But the correct answer is option 'B'.
Reason :- The central economy is also command economy.




Bihar Public Service Commission, Patna

Advt. No. 32/2024 & 33/2024 (General Hindi)

Assistant Engineer, Civil & Mechanical Written (Objective)
Competitive Examinations

Final Answer key (Set — P)

Question No.

Ans. Key

Question No.

Ans. Key

1 D 26 D

2 C 27 B

3 C 28 A

4 B 29 B

A 30 A

6 D 31 C

7 B 32 C

8 B 33 D

9 D 34 A

10 C 35 Cc
11 B 36 A
12 C 37 B
13 D 38 A
14 C 39 B
15 A 40 D
16 D 41 B
17 B 42 A
18 A 43 C
19 C 44 Cc
20 A 45 D
21 C 46 Cc
22 B 47 D
23 A 48 A
24 D 49 B
25 D 50 C




(Set-Q)

Ans. Key

Question No.

26
27
28
29

30
31

32

33
34
35
36
37
38
39
40
41

42

43
44
45
46
47
48
49
50

Ans. Key

Question No.

10

11

12
13
14
15
16
17
18
19
20
21

22

23
24
25




(Set - R)

Ans. Key

Question No.

26
27

28
29
30
31

32

33
34
35
36
37
38
39
40
41

42

43
44
45
46
47
48
49
50

Ans. Key

Question No.

10

11

12
13
14
15
16
17
18
19
20
21

22

23
24
25




(Set—S)
Question No. Ans. Key Question No. Ans. Key

1 B 26 A

2 C 27 D

3 D 28 C

4 A 29 C

5 A 30 A

6 A 31 B

7 A 32 B

8 B 33 A

9 C 34 C

10 D 35 B

11 A 36 C

12 B 37 A

13 D 38 D

14 A 39 D

15 C 40 B

16 A 41 B

17 D 42 B

18 D 43 C

19 B 44 D

20 B 45 A

21 C 46 D

22 A 47 B

23 A 48 C

24 D 49 D

25 C 50 C
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Bihar Public Service Commission, Patna

Advt. No. 32/2024 & 33/2024 (General English)

Assistant Engineer, Civil & Mechanical Written (Objective)
Competitive Examinations

Final Answer key (Set-W)

Question No. Ans. Key Question No. Ans. Key
1 C 26 C
2 B 27 A
3 C 28 C
4 A 29 Deleted
5 D 30 Deleted
6 B 31 A
7 A 32 D
8 D 33 A
9 D 34 D
10 C 35 B
11 C 36 A
12 D 37 C
13 D 38 C
14 B 39 Deleted
15 A 40 A
16 D 41 A




Question No. Ans. Key Question No. Ans. Key
17 B 42 D
18 B 43 D
19 B 44 A
20 C 45 D
21 C 46 A
22 C 47 B
23 A 48 B
24 Deleted 49 C
25 D 50 D




(Set-X)

Question No. Ans. Key Question No. Ans. Key

1 D 26 B

2 C 27 D

3 C 28 Deleted
4 A 29 B

5 B 30 D

6 D 31 D

7 A 32 C

8 A 33 B

9 C 34 B

10 B 35 Deleted
11 A 36 C

12 A 37 B

13 C 38 C

14 A 39 A

15 Deleted 40 D

16 A 41 B

17 D 42 A

18 D 43 B

19 C 44 C
20 D 45 D
21 Deleted 46 B
22 C 47 C
23 D 48 C
24 A 49 A
25 C 50 D




(Set-Y)

Question No. Ans. Key Question No. Ans. Key

1 Deleted 26 B

2 D 27 A

3 D 28 B

4 B 29 C

5 B 30 D

6 C 31 C

7 C 32 D

8 B 33 B

9 A 34 A

10 C 35 D

11 A 36 C

12 D 37 A

13 A 38 Deleted
14 B 39 C

15 C 40 C

16 D 41 Deleted
17 A 42 B

18 C 43 B

19 A 44 D
20 A 45 A
21 Deleted 46 A
22 A 47 B
23 D 48 B
24 D 49 C
25 C 50 D




(Set-2)

Question No. Ans. Key Question No. Ans. Key
1 B 26 A
2 C 27 C
3 A 28 B
4 D 29 A
5 C 30 D
6 A 31 D
7 C 32 A
8 A 33 C
9 Deleted 34 B

10 C 35 A
11 36 D
12 D 37 C
13 D 38 D
14 A 39 A
15 A 40 B
16 B 41 D
17 B 42 B
18 Deleted 43 Deleted
19 A 44 B
20 B 45

21 D 46 C
22 D 47 C
23 A 48 A
24 Deleted 49 C
25 C 50 D




Question Sequence as per Set-W

Set-W Set-X Set-Y Set-Z
14 49 30 27
19 34 8 42
24 35 1 43
25 40 3 41
27 30 40 20
29 28 38 18
30 21 41 24
39 15 21 9
41 14 22 15
43 18 24 11
48 7 35 5
Reason as per Set-W
Q.No. 14 No Change
Reason Candidate's Objection is not considerable
Q.No. 19 No Change
Reason Candidate's Objection is not considerable.
Q.No. 24 Deleted
Reason All the options A, B. & C are appropriate answer.
Q.No. 25 The Provisional answer is option 'A' but the correct answer is option 'D'
Reason No Improvement is required as per the context and meaning of the
Sentence.
Q.No. 27 No Change
Reason Candidate's Objection is not considerable
Q.No. 29 Deleted
Reason The word ‘Boost’ has been used instead of ‘Boast’. Hence no option is
Correct. If the word ‘Boast’ had been there the option ‘C” would have been the
correct answer.
Q.No. 30 Deleted
Reason The question is incomplete.
Q.No. 39 Deleted
Reason The Options ‘B’ & ‘D’ both are correct in the context of general usage and
Idiomatic expression.
Q.No. 41 The Provisional answer is option ‘D’ but the correct answer is option ‘A’.
Reason The phrase ‘in regards to’ is incorrect. The correct Phrase is ‘in regard to’.
Q.No. 43 The Provisional answer is option ‘C’ but the correct answer is option ‘D’
Reason The Provisional answer is ‘C’ which is incorrect as the sentence doesn’t need
any improvement.
Q.No. 48 No Change
Reason Candidate's Objection is not considerable




